PRZEKROJE POPRZECZNE
SKALA 1:100

Puyion = 2,40 m*

km 0+377 Pusen = 0,00 m?
152,56 Liums =5,10 m

Li  =500m

L. =380m

Puyion = 0,13 m?

km 0+424 Prosen = 1,77 m?
Lums =5,40m
L =530m
L. =420m

Puyon = 0,52 m?
km 0+469 Pusym = 0,06 m?
153,07 Lims =4,10 m

. L = 5,60 m
I Lo =330m

Puyion = 0,05 m?

km 0+506 Prag = 2,60 m?
Luunss = 4,60 m
Li =530m
L. =410m

Puyiom = 3,24 m?

km 0+545 Puagon = 0,00 m?
Liwms = 6,60 m
L: =540m
L =520m

Puytom = 4,90 m?

km 0+579 Prago = 0,00 m*
Liums = 8,60 m

Ls = 5,40 m
Lo =550m

Puyion = 0,00 m?

km 0+625 Prag = 2,78 m?
Lbums = 5,50 m

Li =540m
Lo =390m

Puions = 0,88 m?

km 0+660 Poagou = 0,20 m?
81 Lims =4,20m

—— L =500m

‘ L. =210m

Objasnienie:

Puskom - pole wykopu

Puasyps - pole nasypu

Liums - dlugos¢ zdjgcia warstwy humusu
L: - dlugos¢ warstwy $cieralnej

Lo - dlugos¢ skarp



